
Beetle Bailey • Mort Walker

Zits • Jim Borgman & Jerry Scott

Crossword

Hagar the Horrible • Chris Browne

Sally Forth • Greg Howard

Blondie • Chic Young
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Bridge

   Famous Hand

It is often difficult to reach the best con-
tract when your opponents cramp the bid-
ding space with nuisance bids. However,
such tactics occasionally boomerang,
which is what happened in this deal from
the 1966 World Pair Championship when
a Spanish pair crossed swords with a
French pair.

The Spanish South opened the bidding
with one heart, and the French West over-
called with one notrump! This type of
overcall — indicating a long suit and a
weak hand — is known in France as the
comic notrump (le sans atout comique).
North doubled to show a good hand, and
East added spice to the goings-on by leap-
ing to five clubs.

South bid five hearts, thus indicating
much more than a minimum opening bid,
and North raised him to six. Perhaps East
should have passed — the bidding surely
would have died then and there — but he
bid seven clubs as a sacrifice against the
small slam he felt sure the opponents
could make.

 This tactic backfired when it gave
South a chance to make a forcing pass and
in that way invite partner to go on to seven
hearts with a suitable hand. Had South
held a weaker hand, he would have
doubled to stop his partner from bidding
a grand slam.

North had no real problem, under the
circumstances.

He realized that his three aces were ex-
actly the kind of medicine South needed
for a grand slam.

So he bid seven hearts, which was eas-
ily made for a score of 2,210 points, and
the comic notrump did not prove to be so
comical after all.

Family Circus • Bil Keane
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Mother Goose and Grimm • Mike Peters

Baby Blues • Rick Kirkman & Jerry Scott

This is a logic-based
number placement puz-
zle. The goal is to enter
a number, 1-9, in each
cell in which each row,
column and 3x3 region
must contain only one
instance of each nu-
meral. The solution to
today’s Sudoku puzzle
is right.

Tod the Dinosaur • Patrick Roberts


